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B.E./B.TECH. DEGREE EXAMINATIONS, MAY/JUNE—2011
REGULATIONS 2008
FIFTH SEMESTER

CE 52 — RAILWAYS, AIRPORTS AND HARBOUR
ENGINEERING

CIVIL ENGINEERING

Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10%2=20 marks)

1. Mention any two causes of creeps.

9. What is the importance of the reconnaissance survey?
3. What is called as can’t deficiency?

4. What do you mean by tandem?

5. Differentiate between the ecological factors and social
factors.

6. Write short note on “Head Wind”.
7. What are the markings made on the runways?

8.  What are the main aims of an efficient air traffic control
system?

9. Whatis called as a littoral drift?

10. What are the different types of break waters?




[image: image2.png]11

12.

13.

14.

(@)

(b)

(@)

(b)
@

(b)

(a)

PART-B (5x16=80 marks)

Describe the requirements of an ideal
permanent way.

Or

Explain the methods of welding and its
purposes.

Draw and explain the parts of the left handed
turn out.

Or
Explain various types of railway stations.

Describe the corrections to be applied to the
calculated basic runway length to get its
length.

Or

An airport is proposed at an elevation of 400m
above mean sea level where the men of
maximum and mean of average daily
temperature of the hottest month are 44.8°C
and26.2°C respectively. The max. elevation
difference along the proposed profile of runway
is 6.3m. If the basic length of runway is 1260m,
determine the actual length of runway to be
provided.

Describe in detail about the instrument
landing system.
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Or
Describe the guidance and information
required by the pilots during the landing
operation.
Describe the various requirements of good port.

Or

Classify and explain the harbors.
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